Chapter 16
Federal Government Accounting
Questions for Review and Discussion 
  1.
The Financial Management Service (FMS) is the government’s central collection and disbursing agent. It collects revenues from the IRS, Customs and other agencies and writes most of the government’s checks. It is also in charge of the government’s main accounting functions, such as overseeing the central accounting and reporting systems, keeping track of monetary assets and liabilities, and issuing financial reports. FMS also works with the individual federal agencies to bring greater uniformity to their accounting and reporting practices.

  2.
Apportionments are shares of an agency’s total appropriation that are available to be spent. The total appropriation is most commonly divided among time periods (such as quarters), programs, activities or projects. The apportionment process helps assure that agencies do not run out of funds prior to year-end or spend a disproportionate amount on certain programs or activities to the detriment of others.

  3.
The board is titled “advisory” technically it has the authority only to recommend accounting standards to the Treasury, the OMB and the GAO — the three agencies through whose combined efforts the board was established by Congress. These agencies have the authority to review and reject any standards issued by the board.

  4.
The four primary objectives of federal financial reporting are:

· Budgetary integrity. Providing information to enable readers to determine if budgetary mandates were properly carried out.

· Operating performance. Assisting users in evaluating the costs and accomplishments of federal entities.

· Stewardship. Assisting users in assessing the impact on the country of the government’s operations and investments for the period and the status of the government’s financial position.

· Deterring fraud, waste and abuse. Assisting users in understanding whether adequate financial management systems and internal controls are in place.

  5.
The unified budget encompasses all four types of funds — operating, special, trust and revolving. It is intended to capture in a single tabulation the impact of all federal activities on the national economy. Social Security and Postal Service receipts and disbursements are said to be off budget because they are not included among the receipts and disbursements when federal spending limitations are applied.

  6.
It may be unclear as to whether a particular program or subunit is an appropriate reporting entity because one program may be within the control of more than one organizational unit and one organizational unit may be responsible for two or more unrelated programs.

  7.
The six basic statements are:

· a balance sheet (or statement of financial position);

· a statement of net cost (i.e., an operating statement);

· a statement of custodial activities (showing resources that a collection agency (e.g., IRS or Customs) has to turn over to the Treasury);

· a statement of changes in net position (showing transactions other than revenues and expenses);

· a statement of budgetary resources (a statement showing flows of resources on a budgetary basis);

· a statement of financing (a statement that reconciles the statement of budgetary resources to the statement of net cost).

  8.
The FASAB standards permit an entity a choice of reporting inventories at historical cost or at latest acquisition cost. By contrast, both the GASB and the FASB permit only historical cost (except when the latest acquisition cost is lower).

  9.
The two categories of assets are general assets and stewardship assets.  General assets are comparable to those of a business.  They can be used for activities other than those carried out by the federal government.  They include land, buildings and equipment.  Stewardship assets consists of (1) land that is neither used for government purposes nor held for sales and (2) heritage assets — those that have special historical, natural, cultural, educational or artistic significance.


General assets are capitalized and depreciated over their useful lives. Stewardship assets are expensed as acquired, but are reported upon in a stewardship report.

10.
Investments in “human capital” are the outlays for education and training of the public (excluding federal civilian and military employees) intended to increase the nation’s productive capacity. Whereas investments in physical capital are generally capitalized and amortized over the period to be benefited, investments in human capital are expensed as incurred (and detailed in a supplementary stewardship report).

11.
The liabilities resulting from exchange transactions are recognized when an exchange takes place; those from nonexchange transactions are recognized when due. Therefore, if Social Security were considered a pension plan, the government would have to recognize the actuarial liability attributable to the amounts that program participants have already earned. If it were considered an entitlement program, then it would not have to recognize a liability until the payments to participants were actually due.


In its Statement No. 17, Accounting for Social Insurance (1999) the FASAB determined the federal government should account for Social Security transactions as if they were nonexchange transactions (i.e., as part of an entitlement program). That is, it need not recognize a liability (and related expenditure) for payments to beneficiaries or service providers until the payments are actually due. Correspondingly, therefore, it need not record on its balance sheet the actuarial value of the benefits earned by program participants. It must, however, make extensive disclosures, including the amount of actuarial liability.


Social Security differs from a private pension plan in that membership is compulsory. Therefore, the question arises as to which participants should be taken into account in calculating the actuarial liability — current participants only or current and future participants. The FASAB opted for the latter.

12.
If an agency made a below-market rate loan it should recognize an expense equal to the difference between the face value of the loan and the present value of the estimated net cash receipts (i.e., principal and interest payments). Present value should be based on the average interest rate on Treasury securities of the same maturity as the loans. If it guarantees a loan it should recognize an expense equal to the present value of the payments to the lender it expects to make upon borrower defaults.
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EX 16-4

(1)

Cash
$24,000

Prepaid rent (Deferred Revenue)

$12,000

Rent revenue

 12,000

To record rent
Exchange transactions should generally be recognized on an accrual basis. In this case, the government earned only six months of rent.

(2)
(in millions)

Cash
$100

Construction revenue

$  80

Unearned revenue

    20

To recognize revenue from construction contracts
Per the FASAB, revenue from long-term contracts should be recognized on a percentage of completion basis. Hence 100 percent of the revenue ($50 million) should be recognized on one contract and 60 percent ($30 million) on the other.

(3)

Cash
$100,000

Revenue from fines

$100,000

To recognize revenue from fines
Fines and penalties may be accrued (1) upon the expiration of the period during which the offender may contest a court summons, (2) when the offender pays the fine before a court date, or (3) when the court imposes a fine. In this case, therefore, only the fines actually collected would be recognized as revenue.

(4)

Cash
$40,000

Pledges receivable
  80,000

Revenues from contributions

$40,000

Deferred revenue

  80,000

To recognize revenue from contributions
Revenue from pledges may be recognized only when the entity has a legally enforceable claim to the resources.

(5)

Income taxes receivable
$250,000

Income tax revenue

$250,000

To recognize income tax revenues
Revenue from incomes taxes may be recognized when assessed. Taxes expected to be assessed as the result of audits to be conducted in the future should not be recognized as revenue.

EX 16-5

1.
The present value of the three loan payments of $37,411 discounted at the prevailing rate of 10 percent is $93,036:


$37,411 x $2.48685 (the present value of an annuity for three years @ 10%) = $93,036.


The subsidy is the difference between the amount of the loan ($100,000) and the present value of the required payments ($93,036) — hence, $6,964.

2.
According to the FASAB, the subsidy should be recognized as a direct expense at the time the loan is made. It is then that the agency has given something of value to the borrower. The cost should not be implicitly recognized by recording less interest revenue (i.e., basing the revenue on the stated interest rate) over the life of the loan.

3.
Journal entry:

Loan receivable
$100,000

Loan subsidy expense
   6,964

Cash

$100,000

Subsidy allowance

   6,964

To record the loan at subsidized rates

EX 16-6
1.
Beginning of year inventory at latest acquisition cost
$  54

Less: Allowance for unrealized holding gains, 
beginning of year
    21

Beginning of year inventory at historical cost
$  33
2.
End of year inventory at latest acquisition cost
    $  72

Less:  Allowance for unrealized holding gains, 
beginning of year
    35

End of year inventory at historical cost
    $  37
3.
Beginning of year inventory at latest acquisition cost
$  54


Add: Purchases
  360
$414


Less: End of year inventory at latest acquisition cost

    72

Cost of goods sold at latest acquisition cost

$342

This same result could have been obtain by simply subtracting the change in the allowance during the year ($14) from the cost of goods sold as reported ($356).

4.

End
Beginning



of year
of year


Inventory at latest acquisition cost
$  72
$  54


Allowance for unrealized holding gains
   (35)
   (21)


Inventory at historical cost
$  37
$  33
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Problems
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1.
Per the statement of custodial activity, the agency collected $4,900 in taxes and submitted $4,800 to the Treasury. Per the balance sheet it owed the Treasury $450 at year-end. Inasmuch as the amount to be transferred (per the statement of custodial activity) increased by $300, it must have owed the Treasury $150 at the start of the year — an amount consistent with the following analysis:



Beg. Bal + Tax Rev - Pmts. = End. Bal.



Beg. Bal. = End. Bal. + Pmts. - Tax Rev.



Beg. Bal. = $450 + $4,800 - $5,100*


Beg. Bal = $150

* Tax revenue = collections plus increase in receivables

2.
Per the statement of net cost, it cost the agency $800 to carry out its operations.

3.
Per the statement of changes in net position, the agency’s operations were financed with $775 of appropriations.

4.
Per the statement of budgetary resources, the agency was appropriated $900. It incurred $775 in obligations (appropriations, per the statement of changes in net position), and hence had an unused balance of $125 (increase in unexpended appropriations per the statement of changes in net position and the unobligated balance not available per the statement of budgetary resources). This amount was unavailable for use because the required allotments had expired. If the agency is to use it, then it must be reallotted. Per the balance sheet the year-end unexpended appropriations were only $125 — an amount equal to the increase during the year. Hence it apparently had no balance at the start of the year.

5.
Per the statement of financing, the agency ordered (i.e., obligated) $775 of goods and services. $770 ($5 less than the amount obligated) was received. Per the statement of budgetary resources, the agency paid for $785 of goods and services (outlays).

6.
The cost of services is measured on an accrual basis, whereas obligations incurred are measured by the placement of orders. As indicated in the statement of financing, the agency charged depreciation of $40, an amount included in the cost of operations but not obligated during the current year. This was offset, in part, by the acquisition of $10 in fixed assets — an obligated amount, but not an expense. Moreover, the agency ordered $5 more goods than it received — also an obligated amount but not an expense.

16-2

The key to this problem is that there are important differences in the nature of the three types of benefits.

1.
The payments to veterans or their families as a consequence of disability or death from service-connected causes are directly tied to the veterans’ service and represent compensation for lost earnings owing to their death or disability. The government’s obligation is similar to a government acknowledged event, such as an accident for which the government is responsible and required by law to reimburse the injured parties for damages. Assuming that the payments are measurable when death or disability occurs, there is probably little justification for not recognizing the liability (on an actuarial basis) and the related expense, in the period of the death or disability.

2.
The pension benefits attributable to non-service related causes are, arguably, more comparable to Social Security benefits than traditional pension benefits. Unlike traditional pension benefits, the amounts to be paid are unrelated to income or time of service. The FASAB has stipulated that the actuarial liability for Social Security benefits must be disclosed but not recorded as a balance sheet liability.

3.
The medical benefits are also, arguably, more in the nature of entitlements than traditional pension or even post-retirement medical benefits. The VA makes no promises to veterans as to the availability or level of care. Congress decides annually on the level of funding. Therefore, as with Social Security, the key issue is whether they should be accounted for like entitlements and expensed on a pay-as-you-go basis or as a pension benefit and accounted for on an actuarial basis.

The above recommendations are consistent with those made by FASAB in Accounting for Liabilities of the Federal Government.
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1.

Federal Lending Agency

Statement of Net Cost
(in millions)

Costs to produce exchange revenue
Various expenses

$   219

Less earned revenue
Miscellaneous revenues

       93
   Net cost of operations

$   126
Statement of Changes in Net Position
Financing sources—Appropriations used

$   412

Net cost of operations

   (126)

Net results of operations

     286
Cumulative results of operations, beginning of year

         0
Cumulative results of operations, end of year

$   286
Balance Sheet
Assets
Fund balance with the U.S. Treasury

$1,140

Loans receivable

     126

Equipment
$80

Less: allowance for depreciation
  16
       64
   Total assets

$1,330
Liabilities
Accounts payable and other liabilities

$   256
Net position
Unexpended appropriations

     788

Cumulative results of operations

     286
   Total net position

  1,074
Total liabilities and net position

$1,330
Statement of Budgetary Resources
Budgetary resources made available
Current appropriations

$1,200

Borrowing authority

     160
   Total budgetary resources made available

$1,360
Status of budgetary resources
Obligations incurred

$   640

Funds available for commitment

     720
   Total, status of budgetary resources

$1,360
2.

a.
The cumulative results of operations per the balance sheet ($286) agree with those per the statement of changes in net position.

b.
The unexpended appropriations per the balance sheet ($788) are equal to the appropriations received per the statement of budgetary resources ($1,200) less the appropriations used per the statement of changes in net position ($412).
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a.
Journal entries

(1)

Cash
$140

Accounts receivable
  20

Revenues from services

$160

To record services rendered and related collections
(2)

Cash
$ 90

Accrued fines and penalties receivable
  35

Revenues from fines and penalties

$125

To record fines and penalties (only on the amounts collected and on which the protest period has expired, not on the amount in dispute.)
(3)

Cash
$ 20

Accrued fines and penalties receivable

$ 20

To record collection of fines and penalties (which were recognized as revenue in the previous period)
(4)

Cash
$  3

Pledges receivable
   2

Revenue from donations

$  3

Deferred revenue

   2

To record revenue from donations actually received and to recognize deferred revenue on those not received and not legally enforceable

b.
Balance Sheet
Cash

$253

Accounts receivable

    20

Pledges receivable
   $2

Less: Deferred revenue
    (2)
  0

Accrued fines and penalties receivable

    15
   Total net position

$288
Operating Statement
Revenue from services

$160

Revenue from fines and penalties (cash collections)
$110

Add: Accrual adjustment (net)
    15
 125

Revenue from donations

      3
   Total revenues

$288
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1.
Entry at time of loan guarantee.

The present value of anticipated payments would be as follows:


End of

Present Value
Net Present

 Year 
  Amount  
of $1 (6%)
    Value    


2008
$   500,000
  .94340
$   471,700


2009
  1,200,000
  .89000
  1,068,000


2010
  2,000,000
  .83961
  1,679,220


2011
  1,800,000
  .79209
  1,425,762

Total


$4,644,682
Interest (loan guarantee)expense
$4,644,682

Liability for loan guarantees

$4,644,682

To record expense of guaranteeing loans
2.
Entry the following year.


End of

Present Value
Net Present

 Year 
  Amount  
of $1 (6%)
    Value    


2009
  $1,200,000
  .94340
$1,132,080

2010
   2,000,000
  .89000
 1,780,000

2011
   1,800,000
  .83961
 1,511,298

Total


$4,423,378
Liability for loan guarantees
$  221,304

Interest (loan guarantee) expense
   278,696

Cash

$  500,000

To record payment of $500,000 and adjust the balance on the remaining liability for the difference between $4,644,682 and $4,423,378. (The interest expense represents interest, at 6 percent on the beginning of year balance of $4,644,682.)
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1.
Balance Sheet (in thousands).


End of
Beginning

Year
of Year

Inventory at latest acquisition cost
$830
$650

Allowance  for unrealized holding gains
   (60)
    (30)
Inventory at historical cost
$770
$620
2.
Operating Statement (in thousands)

Sales

$3,850

Cost of goods sold

   Beginning inventory at latest acquisition cost
$   650

Less: Allowance for unrealized holding

   gains at the beginning of the period
 (30)

   Plus: Purchases
  3,500
   Goods available for sale
 4,120

   Less: Ending inventory at latest acquisition cost
 (830)

   Plus: Allowance for unrealized holding

      gains at the end of the period
       60

Cost of goods sold

  3,350
   Net results

$   500
3.
If the inventory were in agricultural commodities (i.e., stockpile materials), then the division would not have the option of accounting for the inventory (and cost of goods used) at latest acquisition cost. It would have to maintain its inventory on a historical cost basis.
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1.
At the time Congress authorizes the program, the Small Business Administration need recognize neither an expense nor a liability. Hence, no journal entry is required. Although it can be argued that the agency has committed itself to costs of $1.3 billion, it has not yet engaged in any transactions and does not yet have a legally binding obligation.

2.
Entry upon making the loan.

Loan receivable
$  79,575

Loan subsidy (expense)
  20,425

Cash

$100,000

To record the loan  (In actual practice the loan receivable would be recorded at $100,000 less a discount of $20,425. The loan is shown here at net so as to simplify the entries that follow.)

The loan receivable was computed by calculating the present value of 10 annual payments of $12,950 at the prevailing rate of 10 percent. Thus $12,950 x $6.14456 = $79,575. The subsidy is equal to the difference between the $100,000 face value of the loan and the present value of the payments.

Subsidized loans clearly involve a cost to the government. Per FASAB standards (and federal law) the government should recognize this cost as an expense at the time it makes the loan.

3.
Entries upon repayment

First repayment, 2010
Cash
$12,950

Interest revenue (10% of $79,575)

$  7,958

Loan receivable

  4,992

To record the first loan repayment
Second repayment, 2011
Cash
$12,950

Interest revenue [10% of ($79,575 - $4992)]

$  7,458

Loan receivable

  5,492

To record the second loan repayment
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1.
Expense of $20 million ($200 million divided by 10 years). This is an exchange transaction — a purchase of general assets. Therefore the assets should be capitalized and depreciated. 

2.
Expense of $600,000. This is a government-acknowledged event and per the FASAB should be recognized when the government formally acknowledges financial responsibility for the event and the amount is due and payable. For goods or services acquired from contractors, the expense should be recognized upon receipt.

3.
Expense of $400 million. This too is a government acknowledged event, but not one in which the government is receiving goods or services. Per the FASAB, the expense should be recognized when the government has authorized grants to specific individuals.

4.
Expense of $50 million. This is a nonexchange entitlement transaction. The FASAB has directed that the government recognize an expense only as payments are due.

5.
Expense of $30 million. Pensions are considered an exchange transaction and should be recognized on a full accrual basis — that is, as the employees earn their benefits.
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1.
The computer is general property, plant and equipment. It should be capitalized and depreciated over its useful life.

2.
Military equipment is now considered general assets.  It should be capitalized and depreciated over its useful life.

3.
Goods intended for resale can be stated on the balance sheet at either historical cost or latest acquisition cost.

4.
The monument is a “pure” heritage asset. It should be expensed as acquired but described in a notes to the financial statements.

5.
The Bethesda land, inasmuch as it will be used for an office building, would be classified as general property, plant and equipment and hence capitalized (but not depreciated).

6.
The East Glacier land, since it will be incorporated into a national park, would be considered a stewardship asset. It should be expensed as acquired and reported  in notes to the financial statements.
7.
The improvements to the space center appear to have the characteristics of both heritage and general assets. As a museum the assets are heritage assets. As a training facility they are general assets. Multiuse should be capitalized and depreciated over their useful lives.
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1.
Per the statement of operations and changes in net position, the government reported a deficit (net operating cost) of $760.0 billion. Per the same statement, as well as the balance sheet, it had a deficit (negative net position) of $8,458.7 billion. 

2.
The government’s three largest expenditures, per the statement of net cost, were for:

· Department of Defense






$677.0
· Department of Health and Human Services



$583.8
· Social Security Administration





$574.1.3
3.
Per the statement of operations and changes in net position the government’s main source of revenue was from individual income taxes and tax withholdings ($1690.1).

4.
The government’s balance sheet excludes stewardship assets (e.g. federally-owned land) and heritage assets). It also excludes the actuarial liabilities of social insurance programs, the largest of which is Social Security.

5.
The change of pay-days would have no impact on the financial statements. They are on a full accrual basis.

6.
The Social Security “taxes” are no doubt included among the tax revenues. These revenues can justifiably be reported as taxes if Social Security is not viewed as a pension program (involving exchange transactions) but rather as an entitlement program (involving nonexchange transactions).
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